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1 Electric current

Electric current in circuits consists of moving electrons. Each electron has charge —1.6 x
1071 C. One might agk how many electrons pass through a household device in a given time.
In the following, ignore the minus sign (it eventually relates to the direction of current).

a) Suppose that one billion electrons flow through a device in five seconds. Determine the

total charge that flows through the device in this time and use this to determine the
current flowing through the device.

The current that flows past any point in (through) a typical toaster is about 8 A.

b) Guess the number of electrons that flow through the toaster in one minute.
¢) Determine the total charge that flows through the toaster in one minute.

d) Determine the number of electrons that flow through the toaster in one minute. How
does it compare to your guess?
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